e AC Sweep/Noise analiza

2017, LABOE, 5. ¢&as

AC = 0K
MAG = OK
PHASE = OK
VPRINT1
= m K1
R2 =) L1 K_Linear
AN 1 A2 COUPLING = 0.5
50 1H L=
L2=12
R1 L2 R3
AW\ LAnnn-2 AN
50 H 2 100 \&
V1 @ ACMAG = 10Vac
ACMAG = 2Vac r\) L3 ovde K2
ACPHASE = 45 \/0Vdc H ACPHASE = 60 K_Linear
COUPLING = 0.4
L1=L2
1 AC = ok L2=13
= MAG = ok l
u]]ﬂl AG = ok PHASE = ok ||l
PHASE = ok c1 = s
MAG = ok 100U
IPRIN T IPRINT K. Linear
COUPLING = 0.6
L1=11
?0 L2=13
1. AC Sweep/Noise -fazori
VCC VEE

2

iv
. .

VCC =L 12 L -12
-0 -0
NI 3
12 — V3
K VOFF =0
VAMPL = 10m
= FREQ = 1k 2
0 AC =1 =
0 LM741
V) PA}?AMETERS:
1Vag, val = 9k
ovdc
Ry R1 {val}
== 10k *
AC Sweep 1 10meg 100 =0
AC SWEEP Parametric Sweep Value List 1k 2k 5k 10k
0.1- 1meg Bode Plot dB - separate(V(OUT))
2. AC Sweep/Noise — OPAMP, frekvencijske karakteristike
N Vole} VEE Vel
vz,
J_— R1 é R2
- v | v
12 1meg 3.9k C3 5 —— 5 — R1
] K K 1.2k S c1
— ouT
0 RS —|LF
c1 M1 = 10u 10k =0 =0 1(F)€k3
11 K
10 | Q1
10u d— — —
Vi M2N7000 = I; Q2N2222 =
VOFF =0 0 =0
VAMPL = 100m c2
FREQ = 1k | !
AC =1 ﬁ —|1oo
R2 u
= R3 R4 c2 2.2k V3
1meg 3.9k —|_ 100u 1Vac
1 0Vdc
= VEE =

3. AC Sweep/Noise MOS, BIT



